Al A

S SXHBD
Mu: =x0|8 1
Sl X ARSI= X

SA - BB SRA(B) - NRAY - B2 il v ol ® o HimE=T
SXIE 0 66,831,783 63,658,452 3,173,331
= 32,292,161 33,241,140 A948,979
s 908,761 910,837 22,076
| 319,69% 319,595 100
= 10,229,267 10,285,794 NDBB,527
i 22,915,233 18,734,420 4,180,813
= 166,666 166,666 0
SXoet 2= 8,517,530 8,717,445 A199,915
= 8,000 8,000 0
s 804,926 808,426 A3,500
== 5,245,200 5,265,010 19,810
= 2,349,606 2,526,211 A176,605
= 109,798 109,798 0
INE:INCEIEIN| 3,863,168 4,067,583 A204,415
= 8,000 8,000 0
s 804,926 808,426 A3,500
== 613,000 634,810 A21,810
= 2,327,444 2,506,549 A179,105
= 109,798 109,798 0
KA TSEASI AU ASE XA (REDISHLXIRAALS 9,286 14,286 25,000
s 6,500 10,000 23,500
S 1,393 2,143 AT50
s 1,393 2,143 AT50
308 KEXIEHMSOIS 9,286 14,286 25,000
s 6,500 10,000 A3,500
= 1,393 2,143 AT50
= 1,393 2,143 AT50
11 SJ2S0tetE 4 EAS AIE | 9,286 14,286 25,000
OEHOISAHAL X Z AL
2 & 9,286,000 9,286 14,286 A5,000
s 6,500 10,000 A3,500
== 1,393 2,143 ATH0
= 1,393 2,143 AT50
AT ARISXIAIE SAEL Ue+E XI& 1,029,296 1,093,220 AB3,924
S 411,719 437,288 N25,569
i 617,577 655,932 A38,355
307 gIztol 1,029,296 1,093,220 NB3,924
L= 411,719 437,288 N25,569
= 617,577 655,932 A38,355
10 MEISXAIEHE2IEHIEX 1,029,296 1,093,220 N63,924
OAISXIAIE SAL R
Z2& 1,029,29,000 1,029,296 1,093,220 A\B3,924
== 411,719 437,288 N25,569
= 617,577 655,932 38,35
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S SXHBD
Mu: =x0|8 1

=Rl XSARI =K EER=E)
SN - B SRA(BH) - HPAY - BES 0l Ary ol 8 o tmE==T
A= 2kel 115,155 155, 155 40,000
301 LetENZ 115,155 165,155 40,000
0 ARISRRIALSHYS 115,155 155, 155 40,000
OAZISRR3 SAHI
38 112,880,000 112,880 152,880 40,000
ABISRHE K (HEAY) 867,330 97,330 100,000
301 LEENS 867,330 97,330 100,000
0 ARIS2RRALZYS 839,120 939, 120 100,000
OARI=2RE 2+
3 783,600,000 783,600 873,600 A90,000
OAZIZ2e¥ LS|
33 55,520,000 56,520 65,520 10,000
THoH PSR AL (Z2A THollSHl) 4,509 0 4,509
< 4,509 0 4,509
302 OIF=2L 24 = 4,509 0 4,509
< 4,509 0 4,509
02 eliZiolifoi i =sREs2d= 4,509 0 4,509
020238 THOH RS XIAIS (22 A Mol +5
(88 ) 4,509,000 4,509 0 4,509
< 4,509 0 4,509
L=0l B85 2 X& 4,653,900 4,649,400 4,500
< 4,632,200 4,630,200 2,000
= 21,700 19,200 2,500
=el 715 21,700 19,200 2,500
307 el2+old 14,500 12,000 2,500
01 2224 14,500 12,000 2,500
ORHIT S0il thigt Aldixel
3% 13,300,000 13,300 10,800 2,500
=0 X2 (22 (HEAY) 4,632,200 4,630,200 2,000
< 4,632,200 4,630,200 2,000
301 LetE2NS 4,598,600 4,596,600 2,000
< 4,598,600 4,596,600 2,000
02 A2 H -GS (FHAAS, NSWE) 4,598,600 4,596,600 2,000
LR0AE T (2a)
& 4,598,600,000 4,598,600 4,5%,600 2,000
= 4,598,600 4,596,600 2,000
2eael 2,209,3% 2,159,256 50,140
< 338,680 285,360 53,320
= 1,870,716 1,873,8% 3,180
2eacl & X 2,209,3% 2,159,256 50, 140
< 338,680 285,360 53,320
z 1,870,716 1,873.89% 13,180
2EYRFH 1,648,550 1,651,730 13,180
301 LEEEZ 1,638,900 1,642,080 73,180




S SXE L
HH: Esae
el 2s2el € X2 (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
03 AR 2E X 25l= (XL THSA) 1,632,420 1,635,600 23,180
OHHERSA Sl K= 1,374,480 1,378,800 24,320
6. 258 7S 33 287,280,0002 287,280 291,600 4,320
O34z s 2EE8l=R+Y X2 200,340 199,200 1,140
S+gfRsit =22
100,000 * 3% * 3 900 0 900
S+EFRs3h 7S
80,0002 » 1% » 3 240 0 240
=tREA SU=SAHAE 334,720 281,400 53,320
= 334,720 281,400 53,320
301 LEtEN S 334,720 281,400 53,320
< 334,720 281,400 53,320
03 Al 2EH>6l3 (XS ) 334,720 281,400 53,320
OHHRSA o= X2AH(6.25, HIEY)
& 315,520,000 315,520 281,400 34,120
& 315,520 281,400 34,120
OdezZ3d /= 2E2gi+g(d8d)
14,640,0002 14,640 0 14,640
5 14,640 0 14,640
OSER3SN f5 220+ (8d8d)
3,840,000 3,840 0 3,840
& 3,840 0 3,840
OS+YRK31 22802 (88d)
720,000 720 0 720
= 720 0 720
R =2 26,923,724 27,481,633 557,909
= 20,187,110 20,688,129 A501,019
= 103,835 102,411 1,424
< 2,548,409 2,576,477 A\28,068
i 4,059,958 4,000,204 A30,246
= 24,412 24,412 0
23 24,631,347 25,173,320 A\B5A1,973
= 18,454,601 18,914,601 460,000
fas 59,315 57,891 1,424
< 2,384,441 2,420,016 35,575
i 3,708,578 3,756,400 N47,822
= 24,412 24,412 0
A2IFHS H20d Xelgt 95,774 94,527 1,247
406 XHaHFSHI 1,247 0 1,247
01 AL =S FH S 1,247 0 1,247
OdzdI|SHelet Hl(37) 7 1,247 0 1,247
—oH &Il 280,000 280 0 280
-E8301= 96,0002 % 0 %
=240 550,000 550 0 550
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2A:
X XH -
o e

=aak

SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
—ot& 8 10,0003 10 0 10
-20orH 6,000& 6 0 6
-SNMEE 305,000& 305 0 305

MASH XI& 18,224,102 18,849, 102 A625,000

= 14,579,282 15,079,282 A500,000

= 1,822,410 1,884,910 262,500

i 1,822,410 1,884,910 62,500

301 LEBEF 18,224,102 18,849, 102 A625,000

= 14,579,282 15,079,282 A500,000

= 1,822,410 1,884,910 A62,500

i 1,822,410 1,884,910 262,500

01 MBI EEAG6IZ2(2DEZTHA) 18,224,102 18,849, 102 A625,000

OdA=H XI& Z & 18,224,102,000& 18,224,102 18,849, 102 A625,000

= 14,579,282 15,079,282 A500,000

= 1,822,410 1,884,910 262,500

= 1,822,410 1,884,910 262,500

MESZTEE MEX 264,824 184,824 80,000

= 132,412 92,412 40,000

L= 88,186 61,546 26,640

= 44,226 30,866 13,360

301 LetENEZ 204,824 184,824 80,000

= 132,412 9,412 40,000

= 88,186 61,546 26,640

i 44,226 30,866 13,360

01 S BEXGHZ2(2DEXTHA) 204,824 184,824 80,000
OMZ2Y MBI X2

2E 264,824,000 264,824 184,824 80,000

= 132,412 2,412 40,000

= 88, 186 61,546 26,640

= 44,226 30,866 13,360

ANZL S S &2IAL 1248 IR AL 98,556 96,776 1,780

= 59,315 57,891 1,424

= 11,863 11,578 285

= 2,966 2,895 71

= 24,412 24,412 0

101 el H| 98,55 96,776 1,780

s 59,315 57,891 1,424

= 11,863 11,578 285

= 2,966 2,8% 71

= 24,412 24,412 0

03 SR (RIHL) 22X E S 98,55 96,776 1,780

OJ|EfeIAb(Hu=2 S)
23 7,798,000 7,798 6,018 1,780
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2A:
X XH -
o e

=aak

SXIE D
EIBENETES
MY 2 IIEMERE

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
s 6,238 4,814 1,424
= 1,248 963 285
= 312 241 71
P=PNEE] 2,045,152 2,061,088 A 15,936
= 1,534,729 1,575,748 241,019
s 44,520 44,520 0
= 114,523 107,016 7,507
i 351,380 333,804 17,576
NG iede2gl N2 345,153 344,961 192
= 241,607 241,473 134
= 103,546 103,488 58
307 212t01 & 345,153 344,961 192
= 241,607 241,473 134
i 103,546 103,488 58
10 Al SXAEHE2EHIEX 345,153 344,961 192
OX<GXEHEH 29|
ZE 345,153,000 345,153 344,961 192
= 241,607 241,473 134
= 103,546 103,488 58
22sSU=rsHdE3AH 206,39 282,527 216,128
= 213,122 254,275 A41,153
< 15,983 8,476 7,507
i 37,294 19,776 17,518
301 LEIBE S 206,39 282,527 216,128
= 213,122 254,275 A41,153
= 15,983 8,476 7,507
= 37,294 19,776 17,518
01 ASIEEHSGIZ2(2REXZTHRA) 206,39 282,527 216,128
22580 A= =42 @21 266,399 282,527 216,128
-5|YI|ISEEHI Z& 5,785,000 5,785 5,785 0
= 4,628 5,206 Ab78
= 347 174 173
= 810 405 405
-S|YIISSEII 2 & 19,600,000& 19,600 14,135 5,465
= 15,680 12,722 2,958
= 1,176 424 752
= 2,744 989 1,755
-HH5 WIS EE Z2& 8,213,000& 8,213 8,213 0
= 6,571 7,392 A821
= 4393 246 247
= 1,149 575 574
-LHEIIZ8E 2 & 19,700,000& 19,700 13,095 6,645
= 15,760 11,749 4,011




2A:
X XH -
o e

=aak

A

SA - BB - SRAGEH) - NS - BES il v ol o HlDE2
< 1,182 3 790
2 2,758 914 1,844
~HEANE 27 30,300,002 30,300 23,047 6,353
2 24,240 21,553 2,687
= 1,818 718 1,100
2 4,242 1,676 2,566
-5/ K= H 3 2% 29,558,002 29,558 26,274 3,284
2 23,647 23,647 0
= 1,773 788 985
2 4,138 1,839 2,209
-S| HEHEH | A 17,457,002 17,457 15,518 1,939
2 13,966 3,966 0
= 1,047 466 581
2 2,444 1,086 1,358
-HE L ST (XA 0I5 )
27 93,300,002 93,300 24,017 69,283
= 74,640 21,615 53,025
= 5,508 721 4,877
2 13,062 1,681 1,381
SHA LSRR D Hd)
AT 42,486,002 42,486 151,583 ~109,007
2 33,990 36,425 A102,435
= 2,549 4,547 A1,98
2 5,947 10,611 4,664
s =XXE 22,629,500 23,288,160 £1658,660
2 12,007,051 12,545,011 447,960
= 1,938,297 2,001,721 63,424
2 8,504,152 8,741,428 A147,276
Do = XIS 22,629,500 23,288, 160 £7658,660
2 12,007,051 12,545,011 447,960
= 1,938,297 2,001,721 £63,424
2 8,504,152 8,741,428 A147.276
S EENY L 3,999 4,48 459
2 2,001 2,230 £229
= 599 668 £69
2 1,399 1,560 A 161
301 YstEHZ 3,999 4,458 459
2 2,001 2,230 £229
= 599 668 £69
= 1,39 1,560 A 161
I EEEEPEIEREESTE) 3,999 4,48 1459
OXASHOO! TEH| L A X
2 3,999,002 3,999 4,48 459
2 2,001 2,230 £229




2A:
X XH -
o e

=aak

SINESES N}
FAHS SNXE

o =xsa

SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS
[ 599 668 aNGt)
s 1,399 1,560 A161
SOHRIAFAIE 2SR 6,164,641 6,840,314 A\675,673
= 4,315,249 4,788,220 A472,971
& 564,817 615,628 60,811
= 1,294,575 1,436,466 A141,891
301 EtE NS 6,164,641 6,840,314 A\675,673
= 4,315,249 4,788,220 A472,971
= 554,817 615,628 260,811
o 1,294,575 1,436,466 141,891
01 Al 2E A S(SRNEXMH) 6,164,641 6,840,314 A\675,673
OFOHRINFAIL SSX
33 6,164,641,000& 6,164,641 6,840,314 N\675,673
= 4,315,249 4,788,220 N472,971
= 554,817 615,628 A\60,811
o 1,294,575 1,436,466 141,891
ZOHQ! XIAALS] THEFAIE 22 (XHA) 2,672,435 2,675,885 A3,450
405 AHAHE S 62,550 66,000 A3,450
01 AL =S F = 62,550 66,000 A\3,450
OFHLI=X2 FAESAIE IR (XH
H& 29,0008 L&)
Z& 62,550,000 62,550 66,000 A3,450
Hol2E HOIHF=AIE XIS 168,045 163,589 4,456
= 33,609 32,718 891
o 134,436 130,871 3,565
307 @120l & 168,045 163,589 4,4%
= 33,609 32,718 891
s 134,436 130,871 3,565
10 Al2ISTIAEEE2HIEX 168,045 163,589 4,45
Oel2E HAHFAE &
43 168,045,000 168,045 163,589 4,4%
& 33,609 32,718 891
= 134,436 130,871 3,565
OS2 M T IHtsSN 61,279 26,221 35,058
= 42,895 18,355 24,540
S 3,677 1,673 2,104
s 14,707 6,293 8,414
308 XXM SO0l 61,279 26,221 35,058
= 42,895 18,355 24,540
= 3,677 1,573 2,104
[Ea 14,707 6,293 8,414
11 S [2S0 e YA AS A 61,279 26,221 35,058
OZUMALSXAME IS0
83 61,279,000 61,279 26,221 35,058
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2A:
X XH -
o e

=aak

SINESES N}
FAHS SNXE

o =xsa

SA B SABH) - KIRAY - BLS o ar o) 3 o HIDS2
= 42,8% 18,355 24,540
= 3,677 1,573 2,104
ia 14,707 6,293 8,414
QLS JI=X2HEH 2 98,325 96,939 1,386
307 212+01& 98,325 96,939 1,386
05 2ItRIE = 98,325 96,939 1,386
OFHAEHYZSID =X HH 23
g8 98,325,000& 98,325 96,939 1,386
HdZoel satglE N 3,000 2,000 1,000
= 2,100 1,400 700
[ 270 180 0
s 630 420 210
301 EtE NS 3,000 2,000 1,000
= 2,100 1,400 700
== 270 180 0
[Ea 630 420 210
01 AR 2EHSHS(RNEXRTH) 3,000 2,000 1,000
OoigZoiel EatHIE X2
&3 3,000,000 3,000 2,000 1,000
= 2,100 1,400 700
== 270 180 0
o 630 420 210
LEHQ F=2HES =IO 62,500 84,078 AN21,578
= 17,000 22,869 A5,869
= 45,500 61,209 A15,709
307 elztol & 62,500 84,078 AN21,578
T 17,000 22,869 A5,869
o 45,500 61,209 A15,709
1 AMEISXAIEEXS 62,500 84,078 N21,578
OLL IOl F2Hes TN
334 62,500,000 62,500 84,078 N21,578
= 17,000 22,869 A\5,869
o 45,500 61,209 15,709
Hel2d sSXAE 2SR 3,000 2,400 600
== 1,200 960 240
= 1,800 1,440 360
307 elztol & 3,000 2,400 600
T 1,200 960 240
o 1,800 1,440 360
10 Al SXAAEEHE 22X 3,000 2,400 600
Oel=gd SAAE 28XE
23 3,000,000 3,000 2,400 600
= 1,200 960 240
s 1,800 1,440 360
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S SXE D
Hu: (125 IE K2

=aak Ek‘ég Jk’g A& EER=E)
SN - B - SA(B) - NIRAY - BES 0 & ol B o HIRS2
Ct2st &2 X2 908,646 919,3% A 10,750
) 319,69% 319,595 100
[ 143,681 142,226 1,455
= 412,814 425,119 ~ 12,305
= 32,4% 32,456 0
Ct2sh Jrd X 876,446 889, 19%6 N12,750
2l 319,695 319,595 100
=S 141,601 140,546 1,055
= 382,694 396,59 113,905
= 32,456 32,45 0
JIBHE 29 383,236 383,036 200
) 175,390 175,290 100
[ 52,617 52,587 30
fia 122,773 122,703 70
= 32,4% 32,456 0
307 @120l & 383,236 383,036 200
2l 175,390 175,290 100
[ 52,617 52,587 30
= 122,773 122,703 70
= 32,4% 32,456 0
05 2ItRIE = 383,236 383,036 200
OII=54H 22 23 383,236,000& 383,236 383,036 200
Jl 175,390 175,290 100
& 52,617 52,587 30
a 122,773 122,703 70
= 32,456 32,45 0
IS Old cl2&E 79,2%4 9,254 15,000
401 AIEHIZ S0 79,254 4,254 15,000
01 Al&HI 79,254 9,254 15,000
OJIE4H 01 2|29
38 79,254,000 79,254 A,254 115,000
SHAXZAA X2 65,626 63,576 2,050
(= 32,813 31,788 1,025
= 32,813 31,788 1,025
307 elzto| & 65,626 63,576 2,050
[ 32,813 31,788 1,025
= 32,813 31,788 1,025
05 212t =S 65,626 63,576 2,050
OSHAXZA X2
33 65,626,000 65,626 63,576 2,050
S 32,813 31,788 1,025
a 32,813 31,788 1,025
Argtelstel X1 32,200 30,200 2,000




2A:

X XH -
o=

ol Arelstel X3 (SH &)
SA B O9I(SH) - MRALY - BAS o v o ® o RS2
= 2,080 1,680 400
= 30,120 28,520 1,600
Atgtel stel =01 X|& 10,400 8,400 2,000
< 2,080 1,680 400
i 8,320 6,720 1,600
301 LetEEZ 10,400 8,400 2,000
= 2,080 1,680 400
i 8,320 6,720 1,600
2 AN BEA>HS(HUYAHS, NYTHA) 10,400 8,400 2,000
Og=H= Argtelstel el X
23 4,000,000& 4,000 2,000 2,000
= 800 400 400
= 3,200 1,600 1,600
2= eI=XS& 464,149 488,891 N24,742
= 15,000 15,000 0
i 449,149 473,891 N4, 742
==X 464,149 483,891 N4, 742
= 15,000 15,000 0
= 449,149 473,891 N4, 742
CtE22t0l=8I8 A =4 31,789 56,531 N4, 742
401 Al HIZL 20 29,718 54,460 N4, 742
01 Al&HI 29,718 54,460 A4, 742
OU2I0IFUEHAHEH SAH32 &4
3 29,717,920& 29,718 54,460 A4, 742
NHEEs (ST 5,135,429 560,262 4,575,167
BAEXNE(SXNEHI) (A=SHSESH) 378,978 0 378,978
|08 Xz8eg 303,182 0 303,182
802 Etet=JIE 303,182 0 303,182
01 I NEXILEZ 303,182 0 303,182
oZ&du3ere=z 303, 182,000& 303,182 0 303,182
ANEHIEXZEeE3 75,796 0 75,7%
802 Btz J|E} 75,796 0 75,7%
02 Al - SHIZEEXZEHEZ 75,796 0 75,796
oZudo3ereza 75,796,000 75,79%6 0 75,79%6
SBEXE(SXE ) 4,745,39% 549,206 4,19, 189
HEST BXAY Btat= 4,102,781 31 4,102,750
802 gtet=JIE 4,102,781 31 4,102,750
01 FNEXFEEF 2,505,754 0 2,505,754
Q28 s%Hs &8 S8 MblA XE
2,220,480 2,221 0 2,221
O2ds SHE XEE S8 MUIA XA
Ol XH) 13,320& 14 0 14
O2023 & Al SeAtd2te] X
375,600 376 0 376
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SA: =SXEHY
¥ HeRS(SANEHY)
celr 2EXNE(SANEHY) EEREE)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
OXIGAS MBIASXFALS (01X}
733,860 734 734
OFESAL AL 2,769,000 2,769 2,769
o023 =01 S SXXE(OIsEY) =21
22X JYEA 30,200,500 30,201 0 30,201
Oo2d =0 S SXXE(OIsEY) 21
SX3 T#XAU(0IX) 6,490 7 0 7
O2==XXE 91,474,010& 91,475 0 91,475
OASE XX (01X 432,660 433 0 433
OdAISH X 304,112, 160& 304,113 0 304,113
O=Has0 N 153,585,940 163,586 0 153,586
OZ120{ X (0IXH) 4,814,5002) 4,815 0 4,815
OHAE NSO X 3,638,0002 3,638 0 3,638
ONASS SARISHEXR
22,289,250& 22,290 0 22,290
O EsZSELHEN 2| N&H
1,078,293,050& 1,078,294 0 1,078,294
OJEZHHEMET R X (0IX)
6,401,5402 6,402 6,402
OXE2Z A 92,240,590 92,241 92,241
OXYXEHE 23 128,320 129 129
OXtEI22 AL, XIGXtEHE 2HI(0IXt)
162,880 163 163
OItARME SEX AL 1,462,430 1,463 1,463
OJtARME 22X AL (01X
77,7104 78 0 78
OZ2zszasS 2SR (31YI|
SS=1) 7,294,500% 7.2% 0 7,2%
022U+ AL (312
sSSZ ) 2,624,000 2,624 0 2,624
O22sse=rsS -2 X3 (Y]
S&) 8,325,000& 8,325 0 8,325
O2zssaUsrsSMd2=SXd (#E3s
WIISEH) 10,076, 100& 10,077 0 10,077
O=2zszUer2 2= (EEN
¥ EY 4,320,000 4,320 0 4,320
O2zsaE=rsSkHdex2SNd (A &
) 22,119,000& 22,119 0 22,119
O2zssaUss+sSMAE=SX3 (52|
SSZ1)(0IX) 58,410 59 0 59
OZ2zs"EeraMAE 3R (5123
SEZ11)(0IR) 9,000& 9 0 9
O22ssaU=rS X2 X3 (YT
SS&) (01X 230,040& 231 0 231
O2zssaUsrsSMdE+SXd (#E3s
2I185E)(0IX) 2,762,690 2,763 0 2,763
O2zsgEeraMde+S XN (EEN
=2 (01 Xt) 38,4602 39 0 39
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SA: SXF
. NWRES(=SXHH)
gel: SIS (SAFEMD) (S &)
A - 3 - S2A(FH) - MRAY - BES (1;| Palgely J 3 N Hnsz2
O225AJ=+INALLSA(MA S
Z)(0IRH) 5,680 6 0 6
020223 Hojele=skIA At
116,199,070 116,200 0 116,200
Q2022 FHOfIESKIA A (O
3,833,870 3,834 0 3,84
O20223 LEHEMEIA AFS
26,049,530 26,050 0 26,050
020223 LS THEAHIA AR (OI X
720,830 721 0 721
O02E 2ROl FASSAHHIA A
150,426,290 150,427 0 150,427
O2022 LEEOOI =2 S MHIA AFH (O]
xh) 1,602,560 1,603 0 1,603
Q2022 LTl HU=ESMEIA A
113,997,660 113,998 0 113,998
Q2022 LFC! B USESMUIA AFH(
OIXH) 1,040,900 1,041 0 1,041
020223 ZHOHCIHFAIE 2HXA
206,399,260 206,400 0 206,400
Q2022 HOHRIHFAIE 2 (5L +S)
3,456,950 13,457 0 13,457
020228 ZOHOIZ=ERIHZ ALRI (01 A})
42 910 43 0 43
Q20223 ZHOHIHFAIE SIIEED| XA
23,480 24 0 24
Q20223 ZHOHQIL KFe| ALY e (ML)
12,329,480 12,330 0 12,330
Q20221 ZOoHI L Ktel At B (F M) (0l
Xt) 203,740 204 0 204
Q20221 ZHOHQI L XFel AF LB (AI2HKI)
2,095,040 2,09% 0 2,09%
Q202218 ZHOHQI L Kt AP LB (AIZ2EAI) (O]
xH) 48,7202 49 0 49
Q20223 EHOoHIL Ttel At SRS
3,898, 1802 3,899 0 3,899
02022 FOofelLXtelAre =S XIE (01K})
68,7102 69 0 69
02 Al - THIEZ20E2 1,597,027 31 1,59,9%
0202235 80s AEE S8 MUlA XIH
95,2802 % 0 %
Q20223 S Al SetAtdiztel X3
75,120 76 0 76
OXI S ALS MHIAE XA (OI R}
157,260 158 158
OFHNSAHLX A 593,500 594 594
Q2022 Al AFSISXIAIE SALR HR$E
T 5t &k oK 35,869,640 35,870 0 35,870
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S SXHBD

M HRSS(SXFHY)
celr 2EXNE(SANEHY) EEREE)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
020228 Al AISXIAIE AR R+
TS XU (0| XH) 51,960 52 0 52
O2022& Mol S XI&H AL 400,000 400 0 400
02 =50 S =SXNXA(SYHI) ZHIL
LTz YT 472,148,460 472,149 0 472,149
Oo2d =01 S SXXE(228]) SHIE
T3 ZHETH(0IXL) 684,400 685 0 685
O202d =0 S SXXE(DIsEY) Tl
24Xz YA 15,100,250 15,101 0 15,101
O =0l S =XNNBOISEY) =l
R S= S PSRN 3,240 4 0 4
OHEFBA Lol X2AE(6.25, HEE)
27,000,000 27,000 0 27,000
OSERSA=SE 2= 1,136,480 1,137 0 1,137
O2==XAE 11,434,250 11,435 0 11,435
O2Z=RIXIZ(0IX}) 20,780 21 0 21
OdASH X 23,653,080& 23,654 0 23,654
OFHa8:W X2 11,945,560 11,946 0 11,946
O=H=0 XIA(0IXH) 374,460 375 0 375
OdfatE =0 X3 121,000& 121 0 121
OulsHEEHEX 2l X2
870,993,870 870,994 0 870,9%4
O/ E2HHMETAH| X2 (01X
3,964,260 3,965 0 3,965
OXE2ZAIY 3,075,050& 3,076 0 3,076
OXE 22 AL (0IX}) 4,970& 5 0 5
OX MY 243t =& AFHI(0IXt)
8,290 9 0 9
OJAtZtE 2 X2 A 313,450 314 0 314
OJtARYE 22 A (0IR})
16,6502 17 0 17
OZ2zsza S NE+=S R (31YI|
SSE ) 576,000 576 0 576
O=2zszls2S 22X (FHEs
WIISSHE) 336,270 337 0 337
O2zsaEersSkdex2SNd (A &
) 561,000& 561 0 561
O=2zsza SN2 (31YI|
SEZ11)(0IX) 1,970& 2 0 2
O=2zsza eSS (FHEs
2I1855E)(0IX) 92,080 93 0 B
O20228 OIS AA At
9,959,920& 9,960 9,960
O2022 Hojl &SI At (0IX})
328,610& 329 329
O20228 LETHEAMEIA ALY
3,349,230 3,350 3,350
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SA SRR
M WRS(EXNH ML)
gel: SIS (SAFEMD) EEREE))
A - F3 - SA(3H) - HRANY - BES Off &K & A HnsZ
O2002d L THEMEIA AL (OIAE)
R,670& B3 3
02023 LTl =HasMHIA A
12,893,680& 12,8%4 12,894
O20p2et LLYFOO! FABSAHIA A (0]
Xt 137,360& 138 138
O2022 SEIR! YDSLSMHIA A
9,771,230& 9,772 9,772
O20223 Lol SusssMHIA AF(
OIXH) 89,220 0 0
O2022E ZONQ&#SKIA =K ALY
24,106, 130& 24,107 24,107
020223 ZOHRIE#S XA FILXIAAI (0IX)
161,760& 162 162
O2022E Jfel2d SXIAE 29 X2 (01X
100& 1 1
020223 oIy HOHRIHFAIE 2HXA
3,898,820& 3,899 3,899
020224 o122y FHOHRIHFAIE YRR (
OIXH) 2,890& 3 3
02023 ZOHIANFAIE EAE 2sHMEI
A& 203,600 204 204
02023 ZOHCIAFAIE EAE 23]
XI2(0IRH) 4703 1 1
02023 ZOHRIAFAIE ElaTH NEEEZ
A& 4,000,000 4,000 4,000
02023 ZOHIAFAIE ST NEEHES
X2 (0IXt) 3,350# 4 4
O202F HOHRIAHFAIE 2SN
26,537,270& 26,538 26,538
02022 ZOHIHFAIL SN (FL4E)
1,729,904 1,730 1,730
02022 ZOojQl HASEES A (0IXL)
1,860& 2 2
O202F gE&fel22A ALNER oA
At ®20124(0I X) 60! 1 1
020224 LLZADER HLXCH I
MG AR =R 6,052,580 6,053 6,053
O2023 LLEeI22A AN oA
Al RS2 (0IA) 4,300& 5 5
O202F SR Z=HAAY &0 ZEE0Hel 2l
X 1,723,000& 1,723 1,723
02023 XX Z=HAY &0 ZEEoHel el
EXI& (0IX}) 6,290% 7 7
Q2022 121101 &HoHe! J1e oM Stss 2Lt
2l AR 2,037,080& 2,038 2,038
O20224 12110] ZHOH! DI & =S 2Tt
2l AF(OIR}) 5,130 6 6
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SN SNEMD
. NWRES(=SXHH)
gel: SIS (SAFEMD) (S &)
24 - 8 . 4A(3H]) - HIRAIY - BHES (1;| Palgely J 3 N Hnsz2
02022 ZOFRIYAUSHFIIXJHEH 2
698, 110! 699 0 699
020223 HOHILLUESHFIXNJMEH 22
(OIXH) 4,560 5 0 5
02022 ZOf QI ZF=EINZALS (OIRF)
30,0302 31 0 31
OJNFHEH SAR 2N (UR*E)
365, 160! 366 0 366
O#=IIEAY FAS AHIA X
4,9402 5 0 5
OSHATIKAAL X 432 6502 433 0 433
OSHAXIKAL XIZ(0IXH) 6,180 7 0 7
OAtetel stol =0l X1& 1,882,000& 1,882 0 1,882
ORA=22Z XA AFH (01 XF)
3,660 4 0 4
02022 ZONQIHZ=AIE ZIIEAD| XN
4,500 5 0 5
Q2022 ZHOHQI L Kt AP LBt (M)
3,725,190 3,726 0 3,726
Q202218 ZHOHQI L Kt AP LB (M2 M) (0l
xH) 61,120 62 0 62
Q2022 ZHOHQIA K2 AFY L BHE (Al 2HAI)
631,390 632 0 632
Q2022 ZOHQIL Xt AFY LB (AIZ2EMI) (O]
xh) 14,6209 15 0 15
020223 ZojelLtelAtg sXIE
1,169,660 1,170 0 1,170
Q2022 FoffeldXielArg SXIE(0lAH
20,6104 21 0 21
HECO|™ BXAIY gratz 642,614 549,175 93,439
802 etat=2D|E 642,614 549,175 93,439
01 2NEX3PE= 588,892 503,848 85,044
O20214 AS2EHMET|JH| X2 (01X
1,076,220 1,077 0 1,077
0202020218 2s3U=r3AAE =3
AFYIISSE ) 8,481,600 8,482 0 8,482
O21E 22sEJA=sS N eg4+=2 X2 (3
YIISEHI) 574,000 574 0 574
Q0182214 2essUsr=s A=K
AULIISSH) 12,720,000 12,720 0 12,720
0201820218 2=s3U=r3AAE =3
SI(HIE U SSH) 27,848,800 27,849 0 27,849
020202021 22sEU=+SN2ASLE3H
SIHEAY=AH A 2,400,000 2,400 0 2,400
O20213 AIZEOIIIHE JtA XSS K
AL (01X 38 0& 0 2 A2
020213 ZHOHOISIIS XA (LETHE
30,570,980 30,571 0 30,571
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SA SRR
M YRLS(=XHMUD)
celr 2EXNE(SANEHY) (S & 2)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Husz
O2021E HOHOISIIEXIE (LETHE) (0IR)
694,680 695 0 695
O20218 2L E 244N
672,000& 672 0 672
O2021d Lafe! S22l XIA(0IXH)
5,650 6 0 6
02 Al - SHIEXSEHE = 53,722 45,327 8,39
O2021d AlSZSH XA XA (0IX)
2,069,840 2,070 0 2,070
o221 22sEJ=r+=MAeSSXA(3
LIISEEI) 126,000 126 0 126
0201820218 22ss U=+ AAE ==X
HA(HEsYIIBEE) 2,088,660 2,089 0 2,089
O2021E ZOHOLSIHEXI R (EETHE)
3,930,560 3,931 0 3,931
020218 ZOHOISIHEXIZ (ZETHE) (01X
89,3102 0 0 0
o201 2l F4ela48X
86,0002 86 0 86
O2021E LEFHe! S8l X (01}
7203 1 0 1
020218 AIZEO0HIIHE JIAXS D] X
A (OIRH) 1,300& 2 0 2
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